stm Arduino Finite StateMachine

EXEC Master machine

/ 7 Master1 \ /

STATE MACHINE with 2 encapsulated machines and SPI expanders
2 x16 1/0 digital + 2 x analog outputs 12 bits 0/5V

Master2

Do/Receives the coin —
to send to Master2 \

\\ state. ) /"

N o
Start with circuit! @1 AO[RE*(bitRead(pinstate1,0),etat)==1]
/Master.Set(Master2);

Restart with circuit! @1 AO[RE(bitRead(pinstate1,0),etat)==
&& Master.Finished]

IFirstGR7.Set(STATEOQ);

SecondGR7.Set(STATE10);

Master.Set(Master2);

This state gives a coin to each slave machine to
make them start. A « watchdog » refreshes the state
every few milliseconds.
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~ Stop with circuit! @1 A1[RE(bitRead(pinstate1,1),etat)==1]
[circuit1.digital Write(2,LOW);
circuit1.digital Write(3,LOW);
circuit2.digital Write(3,LOW);
circuit2.digital Write(4,LOW);
circuit2.digitalWrite(5,LOW);
circuit2.digital Write(6,LOW);
outputValue1 = 0;
Master.Finish();
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DO/EXEC FirstGR7 machine;
EXEC SecondGR7 machine;
EXEC FirstGR7

4 STATEO -\ trigger circuit2

@ A1 [RE(bitRead(pinstate2,1),etat)==1]

Dolcircuit2.digitalWrite(3,LOW);
circuit2.digitalWrite(4,LOW);
circuit2.digitalWrite(5,LOW);

\circuit2.digitaIWrite(6,LOW); /’
- \
trigger circuit2 @ AO [RE(bitRead(pinstate2,0),etat)==1]
v

trigger circuit2

4 STATE1 N

Dol/circuit2.digitalWrite(3,HIGH);
circuit2.digitalWrite(4,LOW);
circuit2.digitalWrite(5,LOW);

\_circuit2.digitalWrite(6,LOW);  /

\
trigger circuit2 @ AO [RE(bitRead(pinstate2,0),etat)==1]
v

,,,,,,,,, STATE2Z
Dolcircuit2.digitalWrite(3,LOW);
circuit2.digitalWrite(4,HIGH);
circuit2.digitalWrite(5,LOW);
\\\circuit2.digitaIWrite(6,LOW); /
\

trigger circuit2 @ AO [RE(bitRead(pinstate2,0),etat)==1]

4 STATE3 \

/

Dolcircuit2.digitalWrite(3,LOW);
circuit2.digitalWrite(4,LOW);
circuit2.digitalWrite(5,HIGH);

\_circuit2.digitalWrite(6,LOW);
- \
trigger circuit2 @ AO [RE(bitRead(pinstate2,0),etat)==1]

4 STATE4 N
Dolcircuit2.digitalWrite(3,LOW);
circuit2.digitalWrite(4,LOW);
circuit2.digitalWrite(5,LOW);
\_circuit2.digitalWrite(6,HIGH); ~ /
trigger circuit2 @ AO [RE(tlitRead(pinstateZ,0),etat):=1]
V

a2 STATES \\

Dolcircuit2.digitalWrite(3,HIGH);
circuit2.digitalWrite(4,HIGH);
circuit2.digitalWrite(5,HIGH);
circuit2.digitalWrite(6,HIGH);
LEDWORD=1;
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trigger circuit! @ BO [RE(bitRead(pinstate1,8),etat)==1]
_ vV

4 STAT6 N

Dolcircuit2.digitalWrite(3,bitRead(LEDWORD,0));
circuit2.digitalWrite(4,bitRead(LEDWORD, 1));
circuit2.digitalWrite(5,bitRead(LEDWORD,?2));
circuit2.digitalWrite(6,bitRead(LEDWORD,3));

| if LEDWORD>8) {LEDWORD=1; }
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@ A1 [RE(bitRead(pinstate2,1),etat)==1]

trigger circuit2 @ AO [RE(bitRead(pinstate2,0),etat)==1]
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trigger time out relaunch[FirstGR7.Timeout(500)]
/LEDWORD=LEDWORD*2;

= VALdac1=0;
VALdac2=0; )

EXEC SecondGR7

,/ STATE10 N
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trigger time out launch[SecondGR7.Timeout(2000)]

[ STATEM h
Dol/circuit1.digitalWrite(2,LOW);
outputValue1 = VALdac1;
outputValue2 = VALdac2; /

\
trigger compare[(VALdac1>4095 || VALdac2>4095)]
/VALdac1=4095;VALdac2=4095;
v
[ STATE12 A
Dol/circuit1.digitalWrite(2,HIGH);
outputValue1 = VALdac1; /VALdac1=VALdac1-100;
outputValue2 = VALdac2; ) VALdac‘2=VALdac2-1 00;
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trigger compare[(VALdac1<1 || VALdac2<1)]
/VALdac1=0;VALdac2=0;

trigger time out relaunch[SecondGR7.Timeout(50)]
/VALdac1=VALdac1+100;
VALdac2=VALdac2+100;

trigger time out relaunch[SecondGR7.Timeout(50)]

4 STATE13 N

\ .

trigger time out launch[SecondGR7.Timeout(500)]




